Solving 2-Step Equations:
The "usual” process:

m Solving Two-Step Equations

Step1 Use the Addition or Subtraction Property of Equality to get the term with a variable alone on one side of the equation.

Step? Use the Multiplication or Division Property of Equality to write an equivalent equation in which the vartable has a coeffictent of 1.

1. Louis had 1m$ was traded to a new team. _He aueraged 1.25 goals each game for
his new team. an equation to find o is played with his new

team if he ended up having a total of 42 goals for the
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Answers to Hwk #9 Sect. 2-1 Part 1
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“Just a minute! Yesterday you said X equals two!”
74. Critical Thinking Explain what the student does not understand about using
letters in algebra.

75. What property of equality did the teacher use to solve the equation?
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Sect. 2-2 Part 2

4. x=120 15. m =45

17. EQ : 2n+ 4028 = 51,514
n = # books library had before donation
n = 23,743 books

18. EQ : 2m + 18 = 60
m = # minutes
m = 21 min
EQ :39.95+0.35m = 69.70
m =# minutes

m = 85 min
20. b =21 40. x =4 45. x=0
46. ¢ = 8.75 61. a=2

19. Cell Phones One cell phone plan costs $39.95 per month. The first 500 minutes
of usage are free. Each minute thereafter costs $.35. For a bill of $69.70, how
many minutes over 500 minutes was the cell phone in use?
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You earn $7.50 per hour at a restaurant. Last week your
paycheck was for $262.50 before taxes were taken out. Write
and solve an equation to find out the number of hours you

worked. B h:hwG
el D=7

A plumber charges $75 to come to your house and $35 an
hour for repairs. If the plumber charged you $355 write and
solve an equation to find the number of hours the they must
have worked on your repairs.
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1. When the baker turned off the oven the temperature was 400° 7. The oven cooled off 14° F per min.
After a while the temperature in the oven was 85°F.
Write and solve an equation to find the number of minutes
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2. Beneath Earth’s surface, the temperature increases 10° C every kilometer.
Suppose that the surface temperature is 22 ° €, and at the bottom of a gold mine
itis 45°C. Write and solve an equation to find the depth of the gold rK
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3. One health insurance policy pays people for claims be claim
amount by 0.8 and the500. If a person re m for
$4650, how much was the claim amount?
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4. A state park charges admission of $6 person plus $3 for parking. Jo paid
$27 when her car entered the park. Write=afd solve an equation to find the

number of people in Jo's );rj{)’ef; in/}”'; f = Pﬁmﬂ
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HW #10 - due tomorrow
Pages: 84-85
Problems: 9, 10, 29-32, 64, 68

IXL #4 - J.3 & J.4 due tomorrow at 4pm!



